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UPCOMING ONLINE BATCHES
February 2022

02 Feb 2022

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM
BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS
BILINGUAL

09 Feb 2022

10:30 AM 1o 12:30 PM
BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

(SSC CGL & CHSL)

16 Feb 2022

01:00 PM 1o 03:00 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

07:30 PM 1o 09:30 PM
SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM
SSC ONLINE LIVE CLASS

BILINGUAL

23 Feb 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM
SSC ONLINE LIVE CLASS

BILINGUAL

07:30 PM 1o 09:30 PM

BANK ONLINE LIVE CLASS

(BANK PO & CLERK)

@ www.mahendras.org € 7052477777/7052577777



SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

What is the product of the average of first
ten positive odd numbers and the average
of first_fi npositive even numbers?

[ favH H@T@f%\ TYH
YTHD G AGHTSN o 1 BT U

RG]
[SSC CGL PRE 2020: 24 August , 2nd Shift]

Joxle = |€&_ (a) 85.25
(b) 44
W(c) 160

(d) 150



SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

Sum
a.l1+2+3+4............n n(n;l)
b.2+4+6..............2n n(n+1)
c.1+3+5+...........2n-1 n?

Average (where n=Total no.of terms)

(n+1)
2

(n+1) =Total no. of Even terms + 1

n =Total no. of Odd terms

2n+1
3

(where n=lastno.)
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fafalRed S=aeh 1, 2. 2, 3, 3. 3, 4. 4, 4. 4,
1313, 13 IR BT B AT =T 272

[SSC CPO 2019]

(a)13
(b) 12
(c) 26

M (d)9
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1.Consecutive numbers(sh HI T d '\‘I'@IVQ) ,
Arithmetic Mean (HHTHTAR HIA)

1st term+Last term _a+l

2.Consecutive Even numbers(SPHITA HH W) ; =

o s

OR

g 2 e‘
3.Consecutive Odmbers(ﬁﬂ:l'ma fauy '\‘Tr

4.Arithmetic series(THFTAR gof} ) e




SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

)6 | 8 @ The average of 8 consecutive even numbers

‘ @ written in ascending order is 17. What is the
O O O @ —average of the last three number, 36 and 537
73 3RIG! ShH H [ord! 715 8 ShHNTA TH TeATSHT &1

17 g1 Sifaw diF T=melf 36 3R 53 &1 39T I

D 2
) 56 7o [SSC CGL PRE 2020 : 17 August , 1st Shift]
p= 6613613
K<y (a) 32.2
> _Us=> _ 3 / (b) 29.8
& (c) 31.6
M) 31




SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

o
e o 20

- sum ven consecutive ers is 455. Then
A= "Sﬁ' %% = 65 find the average of 8 conse;j«/%ﬂers whose
L smallgg[_ngmf_b.egs_;l_gmitgf than smallest number of
O O O -odd consecutive numbers.
CGDI (593 g HId TR fawH @137 BT T 455 B1 bR AR 8 IH
GRSt BT Sd I HIE oS! Ta Bict S faww
1 TS ! T BIcT WA ¥ 1 HUF B
[SSC CGL MAINS 2018]
© 6 000
(2)66
- (b)65
(c)64

M()67
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The average of 42 numbers is 37. The average of
the first 26 numbers is@ and the average of the
last 17 numbers is 44. The 26th number is:

42 Gw@T3ft BT 3NGd 37 g1 399 Ugdl 26 B3N I
S 32 B, IR Sife 17 TeSH b1 SMGA(24)R1 26
AT 1 gIf?

[SSC CHSL 2020]
(a) 28
(b) 27

WHc) 26
(d) 25



SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

o? 9 ___,_, The average daily income of Shy Lal during the
_327(’6 month of February 2020 was The average

@ . 53¢ COxI income for the first 16 days was 590 and for the

)6 , Hoo0 - last 16 days_ ; at was his average
— income for an ebruary ?

TRAR] 2020 & SRF, W A1 &I f¥d eFe 3m

+ y8o - 760 560 ffl Ugd 16 i & forw ofwd 3mg 590 ot iR

\ J 3ifaw 16 fa=t & forw siga 3ma 500 i1 14, 15 3R 16
("/?o\ PR3] Bl ITDI 3N 31T T P |
{"/, 15“,16) //3/ [SSC CHSL 2020]
560- )60 (a) 545
700
(c) 590

(d) 587



SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

The average of 23 numbers is 51. The average of first 12

o? g — 51 2_)”2______31 numbers is 49 and the average of last 12 numbers is 54.
4 g - If the twelfth number is removed, then the average of the
12— 4 +3x12= + 36 remaining numbers (correct to two decimal places) is:
412 549 23 BTSN BT 3T 51 21 U 12 TSN 1 3 49 § 3R
3ifad 12 Temasil &1 3Nd 54 71 A dRed! = &I Fd
faar SW @ AW F=Asil &1 ST (31 &) SRHAd M dp)
£ =
[SSC CGL PRE 2020: 24 August , 1st Shift]
— 51 — @Jz £ W 50.45
(b) 53.25

> G O L{Sj (c) 51.75

(d) 52.65




SNV 770700 SSC 2022 | CGL | CHSL |- uve at 06:30 PM

The average of 22 numbers is 37.5. The average of fist 12
K — 3F-5° numbers is 40.6 and that of the last 12 number is 35.4. If
+3-1 ¥1 2-75F2- 11th and 12th number are excluded. then average of the
2 )% ) 2 52 remaining numbers?

22 Bl BT N 37.5 g1 Ul 12 TBARN 40.6 § 3R
35.4 g1 Ife 114t 3R 127 T=AT B!

lz — 3§

(@) 36.9
(b) 37.4

(c) 36.4
(d) 37.8
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31 —(512.
515
510/~ 2%13=_ 6

=

+3X30> 60

month ofcDecember Is . If the average production
during first 20 days is-515 and that of the last 13 days is
510, then what is the average of production on 19 and 20
December?

RdeR 7gH ¥ freft sREm & fae=t &1 ofiva 2fe Iare
512 81 3¢ U8d 20 37 & ERM 39d IadTe 515 7 3R fwd
13 {7 & SR 3fd ITEA 510 §, < 19 3R 20 fGIR &
IdE &1 3d fara g

[SSC CGL PRE 2020: 18 August , 3rd Shift]
(a) 1058

The average daily product';on of toys in a factory in the

Areagr- 5 1R 11T HDOX M (b) 529

(c) 513
(d) 512
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A batsman in his 13th inning makes a score of 97
runs, thereby increasing his average score by 5.
What is his average score after the 13th inning?

_Ti _5{ Uh Seaiarsl gRT U 13d) R} i 1 R IGP
? sﬁwwﬁv@q@%‘r KB LA3 Tt & 12

ITHT 3N fBaaT g2
r, =

12 f’u +S [SSC CHSL 2020]
21
T T Ay i R
5 - M
(b) 77
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SSC 2022 | CGL | CHSL |© uve at 06:30 PM

A batsman scores 92 runs in his 15th innings,

4_) -(60 which increases his batting average by 4. What
0 1 "ﬂﬁ will be his batting average after the 15th innings?

Uh dooians 1591 URT H 92 39 §91dT 8, forad 39+
A H 4 P gfg B 9T g1 1501 TR & 9l IUDI
3T T 82

[SSC CPO 2019]

(a) 32

(c) 40

(d) 35
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H-w-

The average of 29 numbers is 38. The average of
the first 19 numbers is 34 and that of the last 9
numbers is 48. The 20th number is:

29 T3 BT 3Nd 38 g1 Ugal 19 TBA3 o+ 3gd
34 g 3R 3ifaw 9 Tm3il 7 3Nd 48 §1 200 T B

[SSC CHSL 2020]

(a) 28
(b) 26
(c) 24
(d) 22



3
AVERAGE v
(31tAaa)

Most Asked Questions By SSC

PART-2

W%Wﬁﬁgﬁ{%ﬁl’qﬁqgﬂmﬁopen HIP like 3M¥ Save B

SSC CGL 2021-22 | SSC 2022 | Maths | Tricks & Concepts : 6:30 PM

(= https:/lyoutu.be/fkiAkRc7el0 .


https://youtu.be/fkiAkRc7el0

